
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Joe wants to give 4 

friends 3 sweets. How 

many sweets will he need 

altogether? 

 

 

 

 

3 children need 5 

colouring pencils each. 

How many do they need 

altogether? 

 

 

 

There are 4 football 

teams in a competition. 

Each team has 5 

children. How many 

children are in the 

competition all together? 

 

 

 

Amelie has 11 children 

coming to her party. 

Each child needs 3 toys 

in their party bag. How 

many toys will she need? 

 

 

 

 

There are 7 bags holding 

a group of 4 hula hoops. 

How many hula hoops 

are there altogether? 

 

 

 

There are 12 biscuits in a 

packet. Emma buys 4 

packets for her party. 

How many biscuits does 

she have?    

 

 

 

Rich collects Superman 

comics. He has 8 so far. 

Each comic has 3 

surprises in it. How many 

surprises did Ben 

collect? 

 

 

 

 

The school janitor has to 

replace 4 light bulbs in 

each classroom. There 

are 9 classrooms. How 

many light fittings does 

he need to change? 

 

 

Dad went on a golfing 

holiday. Before he went, 

he bought 4 packets of 

golf balls. Each packet 

had 8 golf balls. How 

many golf balls did he 

buy? 

1) 2) 3) 

4) 5) 6) 

7) 8) 9) 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

While playing a dice 

game, Tony managed to 

throw nine 6s in a row. 

How many did he score 

altogether? 

 

 

 

     

8 children need 7 

colouring pencils each. 

How many do they need 

altogether? 

 

 

 

 

There are 8 football 

teams in a competition. 

Each team has 9 

children. How many 

children are in the 

competition all together? 

 

 

 

Alison has 6 children 

coming to her party. 

Each child needs 3 toys 

in their party bag. How 

many toys will she need? 

 

 

 

 

There are 7 bags holding 

a group of 6 hula hoops. 

How many hula hoops 

are there altogether? 

 

 

 

There are 12 biscuits in a 

packet. Lois buys 8 

packets for her party. 

How many biscuits does 

she have?    

 

 

 

Peter collects Superman 

comics. He has 8 so far. 

Each comic has 3 

surprises in it. How many 

surprises did Ben 

collect? 

 

 

 

 

The school janitor has to 

replace 9 light bulbs in 

each classroom. There 

are 11 classrooms. How 

many light fittings does 

he need to change? 

 

 

Dad went on a golfing 

holiday. Before he went, 

he bought 6 packets of 

golf balls. Each packet 

had 12 golf balls. How 

many golf balls did he 

buy? 

1) 2) 3) 

4) 5) 6) 

7) 8) 9) 



 

 

 

1) 12 

2) 15 

3) 20 

4) 33 

5) 28 

6) 48 

7) 24 

8) 36 

9) 32 

1) 64 

2) 54 

3) 72 

4) 18 

5) 42 

6) 96 

7) 24 

8) 99 

9) 72 

 


